BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LIA JOB NO.

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 1093 TURN LANES & FULSHEAR JUNCTION ENTRY FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174
CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS
JULY 18, 2025
LIA ENGINEERING, INC.
F. LEMUS

JULY 21, 2025 2457-3009 (9.2)

BIDDER NAME	BASE BID

1) DURWOOD GREENE CONSTRUCTION CO. \$387,362.50
2) TLC CONSTRUCTION CONTRACT SERVICES, INC. \$518,689.80

CALENDAR DAYS 30/45

I, James Kuzelka, PE, hereby certify these bid tabulations to be true and correct.



BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 1093 TURN LANES & FULSHEAR JUNCTION ENTRY FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS JULY 18. 2025

JULY 18, 2025 LJA ENGINEERING, INC. F. LEMUS JULY 21, 2025

2457-3009 (9.2)

				1) DURWOOD GREE	NE CONSTRUCTION CO.	1	N CONTRACT SERVICES, NC.
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
PAVING 1	ITEMS TXDOT ITEM NO. 0100 - PREPARE RIGHT OF WAY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1368	\$5.00	\$6,840.00	\$53.00	\$72,504.00
2	. TXDOT ITEM NO. 0354 - PLANE EXISTING ASPHALT PAVEMENT, 1.5" DEPTH, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	SY	6596	\$5.00	\$32,980.00	\$2.00	\$13,192.00
3.	. TXDOT ITEM NO. 0105 - 2' SAW CUT AND REMOVAL OF EXISTING ASPHALT AND BASE, IN ACCORDACE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	562	\$35.00	\$19,670.00	\$14.00	\$7,868.00
4	. TXDOT ITEM NO. 0292 - 10" ASPHALT BASE, COMPLETE IN PLACE	SY	905	\$88.00	\$79,640.00	\$89.00	\$80,545.00
5	. TXDOT ITEM NO. 0341 - 1.5" HOT MIX ASPHALT TYPE D (PG 70-22), SAC-A, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	7434	\$20.00	\$148,680.00	\$18.00	\$133,812.00
6	. TXDOT ITEM NO. 0152 - ROADSIDE DITCH REGRADING, CONTRACTOR TO RE- ESTABLISH EXISTING ROADSIDE DITCH TO PRE-PROJECT CONDITIONS AND FLOW DIRECTION, TO INCLUDE DEMUCKING AND FILLING AS NECESSARY, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	269	\$30.00	\$8,070.00	\$10.00	\$2,690.00
7.	. TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (4"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	4538	\$0.05	\$226.90	\$0.10	\$453.80
8	. TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$15.00	\$90.00	\$8.00	\$48.00
9	. TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (WORD), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$15.00	\$30.00	\$8.00	\$16.00
10	. TXDOT ITEM NO. 0666 - 4" SOLID YELLOW REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	1876	\$2.00	\$3,752.00	\$1.00	\$1,876.00
11	. TXDOT ITEM NO. 0666 - 4" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	2662	\$2.00	\$5,324.00	\$1.00	\$2,662.00
12	. TXDOT ITEM NO. 0666 - SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (ARROW), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	6	\$250.00	\$1,500.00	\$212.00	\$1,272.00
13	. TXDOT ITEM NO. 0666- SOLID WHITE REFLECTIVE PAVEMENT MARKINGS (WORDS), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	EA	2	\$300.00	\$600.00	\$224.00	\$448.00
14	. INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	250	\$4.00	\$1,000.00	\$4.00	\$1,000.00

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 1093 TURN LANES & FULSHEAR JUNCTION ENTRY FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174 CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS JULY 18, 2025

LJA ENGINEERING, INC. F. LEMUS JULY 21, 2025 2457-3009 (9.2)

				1) DURWOOD GREENE CONSTRUCTION CO.		2) TLC CONSTRUCTION CONTRACT SERVICES, INC.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
15.	HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$1,700.00	\$1,700.00	\$5,773.00	\$5,773.00
16.	EXCAVATION FOR TURN LANE SUBGRADE, BASE, AND ASPHALT EXTENSION, TO INCLUDE PLACEMENT AND COMPACTION TO 95% STANDARD PROCTOR DENSITY WITHIN THE FM 1093 ROADSIDE DITCH TO REFORM THE DITCH SIDE SLOPE, ANY EXCESS SPOILS CAN BE PLACED ON SITE ADJACENT TO FM 1093 ROW AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	1360	\$5.00	\$6,800.00	\$31.00	\$42,160.00
17.	TXDOT ITEM NO. 533 - MILLED RUMBLE STRIP, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	2736	\$2.00	\$5,472.00	\$9.00	\$24,624.00
18.	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INSPECTION, MAINTENANCE OF FENCE, NOI, NOT, AND ALL OTHER ITEMS NOT SPECIFICALLY LISTED ABOVE, COMPLETE IN PLACE	LS	1	\$1,500.00	\$1,500.00	\$3,146.00	\$3,146.00
19.	INSTALL, MAINTAIN, AND REMOVE STABILIZED CONSTRUCTION EXIT, AND REGRADE AREA TO MATCH FINISHED GRADE, COMPLETE IN PLACE	EA	1	\$1,500.00	\$1,500.00	\$3,933.00	\$3,933.00
20.	TEMPORARY TRAFFIC CONTROL FOR MILL AND OVERLAY AND ONE WAY LEFT TURN LANE, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$25,000.00	\$25,000.00	\$19,281.00	\$19,281.00
21.	TEMPORARY TRAFFIC CONTROL FOR MILL AND OVERLAY AND ONE WAY LEFT TURN LANE TO BE SIGNED AND SEALED BY A PROFESSIONAL ENGINEER AND APPROVED BY THE ENGINEER OF RECORD, COMPLETE IN PLACE	LS	1	\$2,500.00	\$2,500.00	\$3,025.00	\$3,025.00
22.	TXDOT ITEM NO. 503 - SOUTHERN PORTABLE MESSAGE SIGN, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	DAY	45	\$40.00	\$1,800.00	\$75.00	\$3,375.00
23.	TXDOT ITEM NO. 503 - NORTHERN PORTABLE MESSAGE SIGN, TO BE USED AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	DAY	45	\$40.00	\$1,800.00	\$75.00	\$3,375.00
24.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (8"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	830	\$0.10	\$83.00	\$0.10	\$83.00
25.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (12"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	580	\$0.15	\$87.00	\$0.20	\$116.00
26.	TXDOT ITEM NO. 0666 - 8" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	830	\$4.00	\$3,320.00	\$2.00	\$1,660.00
27.	TXDOT ITEM NO. 0666 - 12" SOLID YELLOW REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	580	\$7.00	\$4,060.00	\$4.00	\$2,320.00
28.	TXDOT ITEM NO. 0678 - PREPARE SURFACE FOR PAVEMENT MARKING (24"), IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	37	\$2.50	\$92.50	\$2.00	\$74.00

BID TABULATION FOR:

BID OPENING DATE:
BID OPENING LOCATION:
TABULATION BY:
TABULATION DATE:
LJA JOB NO.

CONSTRUCTION OF THE PAVING, STRIPING AND APPURTENANCES TO SERVE THE FM 1093 TURN LANES & FULSHEAR JUNCTION ENTRY FORT BEND COUNTY MUNICIPAL UTILITY DISTRICT NO. 174

CITY OF FULSHEAR, FORT BEND COUNTY, TEXAS

JULY 18, 2025

LIA ENGINEERING, INC.

F. LEMUS JULY 21, 2025 2457-3009 (9.2)

				1) DURWOOD GREENE CONSTRUCTION CO.		2) TLC CONSTRUCTION CONTRACT SERVICES, INC.	
NO.	ITEM DESCRIPTION	UNIT	QTY	UNIT COST	TOTAL	UNIT COST	TOTAL
29.	TXDOT ITEM NO. 0666 - 24" SOLID WHITE REFLECTIVE PAVEMENT MARKINGS, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LF	37	\$20.00	\$740.00	\$12.00	\$444.00
30.	TXDOT ITEM NO. 0512 - INSTALLATION, MAINTENANCE AND REMOVAL OF LOW PROFILE CONCRETE TRAFFIC BARRIERS, TO BE USED ONLY AT THE DIRECTION OF THE ENGINEER, COMPLETE IN PLACE	LF	562	\$5.00	\$2,810.00	\$92.00	\$51,704.00
31.	D-GR HMA(SQ) TY-B OR D PG64-22 (LVL-UP) PER TXDOT ITEM NO. 340, DESC CODE 6242, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	SY	838	\$20.00	\$16,760.00	\$17.00	\$14,246.00
SUBTOT	AL PAVING ITEMS			•	\$384,427.40		\$497,725.80
	ANEOUS ITEMS TEMPORARY TRAFFIC CONTROL, INCLUDES INSTALLATION, IMPLEMENTATION AND REMOVAL UPON COMPLETION, FLAGGERS AND TEMPORARY TRAFFIC CONTROL DEVICES, IN ACCORDANCE WITH THE PLANS AND SPECIFICATIONS, COMPLETE IN PLACE	LS	1	\$100.00	\$100.00	\$5,115.00	\$5,115.00
2.	STABILIZED CONSTRUCTION EXIT, INSTALLATION, MAINTENANCE, AND REMOVAL (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$0.10	\$0.10	\$3,933.00	\$3,933.00
3.	STORM WATER POLLUTION PREVENTION PLAN COMPLIANCE, INSPECTION, MAINTENANCE OF FENCE, NOI, NOT, AND ALL OTHER ITEMS NOT SPECIFICALLY LISTED ABOVE, COMPLETE IN PLACE	LS	1	\$100.00	\$100.00	\$3,146.00	\$3,146.00
4.	ROCK FILTER DAM, TYPE 2 (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	EA	1	\$2,700.00	\$2,700.00	\$1,997.00	\$1,997.00
5.	INSTALL AND MAINTAIN REINFORCED FILTER FABRIC FENCE, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	LF	250	\$0.10	\$25.00	\$4.00	\$1,000.00
6.	HYDROMULCH SEEDING, FINE GRADING AND WATERING, (TO BE USED ONLY AT THE WRITTEN DIRECTION OF THE ENGINEER), COMPLETE IN PLACE	AC	1	\$10.00	\$10.00	\$5,773.00	\$5,773.00
SUBTOT	AL MISCELLANEOUS ITEMS				\$2,935.10	_	\$20,964.00
BID SUM	IMARY						
PAVING	ITEMS				\$384,427.40		\$497,725.80
MISCELL	ANEOUS ITEMS				\$2,935.10		\$20,964.00
TOTAL A	MOUNT BASE BID				\$387,362.50		\$518,689.80